
UG291−6A_1

log ∆L  Leuchtdichte-Diffenz-
renzschwelle

Lg=63cd/m2

Lg=6,3cd/m2
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02 0,1s B 63&6,3cd/m2; hyp2
∆L = A1·A2·A3·Lt / (Lt+A2)2

A1=48.76
A2=10.75
A3=0.8=t
A6=419.5
A7=19.46
∆=0.049

A1=183.2
A2=62.7
A3=0.8=t
A6=9191.0
A7=176.4
∆=0.556



UG291−6A_2

log(L/∆L) Leuchtdichte-Kontrast-
Empfindlichkeitsschwelle

Lg=63cd/m2

Lg=6,3cd/m2
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x=logL

02 0,1s B 63&6,3cd/m2; hyp2
log(L/∆L) = A1·A2·t ·L / (Lt+A2)2

A1=48.76
A2=10.75
A3=0.8=t
A6=419.5
A7=19.46
∆=0.049

A1=183.2
A2=62.7
A3=0.8=t
A6=9191.0
A7=176.4
∆=0.556



UG291−6A_3

L/∆L  Leuchtdichte-Kontrast-
Empfindlichkeitsschwelle
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x=logL

02 0,1s B 63&6,3cd/m2; hyp2
L/∆L = A1·A2·t ·L / (Lt+A2)2

A1=48.76
A2=10.75
A3=0.8=t
A6=419.5
A7=19.46
∆=0.049

A1=183.2
A2=62.7
A3=0.8=t
A6=9191.0
A7=176.4
∆=0.556



UG291−6A_4

T*  Leuchtdichte-Diffenz-
renzschwellensumme
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x=logL

02 0,1s B 63&6,3cd/m2; hyp2
T*  = A1·Lt / (Lt+A2)
A1=48.76
A2=10.75
A3=0.8=t
A6=419.5
A7=19.46
∆=0.049

A1=183.2
A2=62.7
A3=0.8=t
A6=9191.0
A7=176.4
∆=0.556


